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Xl 10,000
[ia 10,000
03 A2 Z HI 10,000 0 10,000
O=sgel Ji2ddgdus 249  10,000,000& 14 10,000
Xl 5,000
[ 5,000
405 RHoHE S HI 20,000 0 20,000
Xl 10,000
i 10,000
01 AL EZFH S 20,000 0 20,000
OX)E Ms £&J ¢ 20,000,000& =14 20,000
Xl 10,000
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AN sg€II=4dH
M sHAUAWS I
o9 ssE M B A (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| | o 10,000
Szt Algda Jgt 2= 939,858 1,888,920 A 949,062
= 405,328
< 2,500
s 532,030
tetgds EEII=NE 16,000 18,000 A 2,000
2 8,000
s 8,000
101 1A dl 7,200 13,050 A5,850
= 3,600
[ia 3,600
04 JIZtHZ2XNHEE S 7,200 13,050 A5,850
OZTEgZEFY 29 2 1,200,000& 60 & 7,200
= 3,600
[ 3,600
201 B2l 4,800 1,000 3,800
= 2,400
e 2,400
01 At 22l 4,800 1,000 3,800
OzsABA Ty SN
1,200,000& *43] 4,800
= 2,400
[ia 2,400
206 M= Hl 4,000 3,950 50
= 2,000
s 2,000
01 M= 4l 4,000 3,950 50
OZ8A[Y 88 H22Y
200,000& x4 Z *53] 4,000
= 2,000
[ia 2,000
SHSYHE NZYHAL 19,300 109,300 90,000
2 9,650
e 9,650
101 @124 dl 9,600 11,000 A 1,400
= 4,800
e 4,800
04 DIt Z2XEES 9,600 11,000 A 1,400
OSXE ET L [GA 29 Ry
1,200,000 =81 = 9,600
= 4,800
e 4,800
201 24l 3,150 2,210 940
= 1,575
s 1,575
01 At 22l 3,150 2,210 940
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2H: =59
= O Al
=

M =PMHEDYS J=HY
Sl S AT e 2E (29l 8)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZoz doa a0 sAaell
475,000& *43| 1,900
- 950
s 950
Odgols WEZ EZFHMZ 100, 0002 53 500
= 250
[ia 250
Odols 2L HENE 50,000& x15& 750
- 375
i 375
206 M= Hl 6,550 6,090 460
= 3,275
s 3,275
01 = Hl 6,550 6,090 460
OSME HEE 2 Ao 2% Wa
140,000 4 E x53| 2,800
- 1,400
s 1,400
Oo=zg=Z s 7¢ 250,000 » 1504 2 3,750
= 1,875
[ia 1,875
MASSEEZH 2,678 2,620 58
= 2,678
206 M= Hl 2,678 2,620 58
= 2,678
01 MHZ 8l 2,678 2,620 58
OURASEIAEN ELHA e 2,678
= 2,678
Il BESAY 2E3sglls 770,000 200,000 570,000
= 385,000
s 385,000
402 RI2HXt20l ™ 770,000 200,000 570,000
= 385,000
s 385,000
01 22t t= AP E X 770,000 200,000 570,000
ORJls SedE 24 x4
2,000,000& x50ha 100,000
= 50,000
[ia 50,000
OZEd H ZE|R Muldl=s E=2Ad
7,000,000& =10ha 70,000
= 35,000
s 35,000
OFRER MUSSE M43 SIAE
20,000,000& =10ha 200,000
= 100,000
s 100,000
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2H: =59
= O Al
=

M sPMHUS Iy
SHol: S3 AZMA Y RS CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZ=N=E 34 1982 2000 =4
8,000, 000& *50ha 400,000
= 200,000
s 200,000
NASSEA 20 A E 8,000 0 8,000
< 2,500
s 5,500
402 2I2H X201 M 8,000 0 8,000
< 2,500
s 5,500
01 B2t AL E X 8,000 0 8,000
OJS8 RIS MusS A% JIsAd
10,000,000& *80% 8,000
< 2,500
s 5,500
sgsE XA 20,200 23,200 A 3,000
201 Let249] 6,600 7,600 A 1,000
01 At 22l 6,600 7,600 A 1,000
Ogdise M 2= WA 1,500& *1,000% 1,500
O&2ed EItsl WM& 5,000& *300% 1,500
OX=&td Eote =0 & ZEMA
200,000 x65 1,200
OFXSHCX SXNAS &YX
700,000& »2[H 1,400
OsHs dois E=s 2¢ 1,000
202 O4dl 3,000 2,000 1,000
01 = LH 4 bl 3,000 2,000 1,000
OsZEEFXNE 2= 3,000
206 = Hl 4,000 3,000 1,000
01 M2 4l 4,000 3,000 1,000
OX=ed HAZE 28 ME  100,000& *205 2,000
OXEE sItE2 X 78 200,000& %105 2,000
301 et a s 3,800 3,500 300
09 AL HIZ &S 3,800 3,500 300
OX=ed AEAY HItal Aldl
7,000 *100E *43] 2,800
OXSBASHEX XA BT Al
10,0002 100 1,000
405 RHoHE S HI 2,800 500 2,300
01 AL EZFH S 2,800 500 2,300
OZFZHl ECOIEHDII & 2,800,000% = 1CH 2,800
g ¥EXA 103,680 139,800 236,120
402 RIZ2EXt20l ™ 103,680 139,800 A 36,120
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AN sg€II=4dH
M sHAUAWS I
SOl Sa AZFMA DB 1E (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 BIZtt2 AL E X 103,680 139,800 A 36,120
OAE=EZE <t MO, E0I 2SS M
A 37,680
— S M0t 500, 000& *20CH *60% 6,000
— EM=0tD] 8,800,000& =6CH x60% 31,680
OH ZE=Y S S2UHEE AL 0 0
OJlsd MZA= B MM MHLAEI] 2
=AM 50,000, 000& * 10 2 x60% 30,000
O==g Cst H2HMA e AMEAS
4,500, 000& *10ha*60% 27,000
O&Z2THHY ==TloH ZX AIHAS
500, 000& *20H 2~ *60% 6,000
O&lad RIIE 2FHE A
1,000, 000& x5ha*60% 3,000
sHASHE =23 1,286,620 1,245,900 40,720
= 57,500
Xl 300,000
< 54,820
e 874,300
NEESA=Z 4 20,000 16,800 3,200
201 Let24E] 9,900 8,700 1,200
01 At 2t 2l 5,700 4,500 1,200
OSs&E= JIsE2=2 &KX AF 700,000 *63| 4,200
OEAE JIgE23 M= HMZE 500,000 33! 1,500
02 =224l 4,200 4,200 0
ORUMNESHEFAIAE (U-IT) 2E AEE
600,000& +7CH 4,200
202 O4dl 3,000 2,000 1,000
01 = LH 4 1 3,000 2,000 1,000
OSs&=s s4X& 3,000
206 M= Hl 5,000 4,000 1,000
01 MHZ 4l 5,000 4,000 1,000
S &S ANEE 29 =M 22
200,000& »25& 5,000
301 et a = 2,100 2,100 0
09 &AL HI B &S 2,100 2,100 0
OSSAE JlesEg EXNHE FAX AlH|
,000& *300H 2,100
NEsHASANEEZ(L) 22 25,000 16,500 8,500
101 @124 dl 8,000 2,500 5,500
04 JIZtHZ2XREES 8,000 2,500 5,500
OXNYSAMSAEE 29 o2
800,000& »10& 8,000
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A sgI=HH
M HMHNYS Iz
e sgASIHE J=E= (e H)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
201 Bt 3,000 2,500 500
01 AP 22| H| 3,000 2,500 500
ONSGSAMSAEE 29 2577 29
100,000& »30= 3,000
206 M = Hl 4,000 1,500 2,500
01 X2 Hl 4,000 1,500 2,500
ONASAMSAEE 29 W27
200,000& x20= 4,000
401 Al EHI L 204 HI 10,000 10,000 0
01 Al&H| 10,000 10,000 0
O2=s0 HdsSolRA 2 ZHIEALE B2
10,000,000& » 1Al 10,000
MIOI=sE3AY AS 360,000 142,000 218,000
203 & R =&t 3,000 3,000 0
03 Al ZH =X 2= XIH| 3,000 3,000 0
OsHAEZUN I3 ANEZ=X 3,000
402 SI2F X0l M 357,000 139,000 218,000
01 QIZEXIEAIE 2 X 357,000 139,000 218,000
ODHHX HAEAID THHH SR =A 90,000
O A RAA X MRrE AlY 12,000
OJdlsd 4% &t =sY Ity
3,500,000& *10ha*60% 21,000
OF2 2ZXFH FAXZ WHISHX =4
30,000, 000& *x3ha*60% 54,000
OJIsH &SRS MaI|Y H5
20,000,000 *24 2~ *60% 24,000
Ol JI&THGHHS ot Z Az
1,000,000& *10ha*60% 6,000
Otz dolE=sr2el(IPM) Al Y
2,000,000& *30ha*60% 36,000
OXNEZS ME&2 MHIEX =4
1,000, 000& *20ha*60% 12,000
O/ (8 EE0 Z22X) a3
50,000,000 * 14 2~ *60% 30,000
ONESE MBHSX LAY 12,000
O20| X THEHSH X =H ALY
50,000,000 x2ha*60% 60,000
MIESESMY(ASEZ) 115,000 240,000 A 125,000
= 57,500
= 57,500
402 IV X201 & 115,000 140,000 A 25,000
= 57,500
= 57,500
01 QIZEXIE2AIE 2 X 115,000 140,000 A 25,000
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A sgI=HH
o solMeinet JleHY
e sgASIHE J=E= (&2 &)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
O=U=8 <= 227s =4 22
40,000,000 1A 40,000
= 20,000
2 20,000
OXHZ20I8 8 XYM AlY
30,000,000 =14 30,000
= 15,000
2 15,000
OS2T DAZF SHR 7Y U SHY Ha
20,000,000 =14 20,000
= 10,000
2 10,000
Ogsta Jttlet 28 HEIY XJ| HSAS
A& 20,000,000 =14 20,000
= 10,000
2 10,000
OME22 MEXEZ HUT WiiIls 22AY
5,000,000& x 14! 5,000
= 2,500
= 2,500
NGeseEsds Iy 600,000 360, 000 240,000
Xl 300,000
= 300,000
402 Q12+t X2 0| & 600,000 360, 000 240,000
Xl 300,000
= 300,000
01 A2t SAIEE =X 600,000 360,000 240,000
OZNASs &S Jetx
375,000,000& *80% 300,000
Xl 150,000
= 150,000
OrEH obx THHISH X =A
125,000, 000& *80% 100,000
Xl 50,000
= 50,000
OLASXNYEEM HYsHSH (23 AT &
OH TH BH ) 100,000, 000& * 1Al 100,000
N 50,000
= 50,000
ONUHX H22ZE A&EscIA MEIDI= A"
100,000, 000& * 1Al 100,000
Xl 50,000
= 50,000
ASEXNSE20F JsAlHY 166,620 28,000 138,620
= 54,820
= 111,800
402 Q12+ X2 0| & 166,620 28,000 138,620
= 54,820
= 111,800
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AN sg€II=4dH
B M Y
2 sPASHY JI==22 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 BIZtt2 AL E X 166,620 28,000 138,620
O==0t ZUHHE =Ml Al
25,000, 0003 »2H 2= *80% 40,000
< 15,000
e 25,000
OANEHA MUK |Ils ELEE AlY
10,000, 000& = 17 2= «80% 8,000
< 2,500
fia 5,500
Oz&Z AETHH SSEHIs AE
10,000, 000& = 17 2= *80% 8,000
< 2,500
e 5,500
ONHX LHFE ZHH S&AHY
50,000, 0002 *1JH 2 x80% 40,000
< 12,500
e 27,500
ONEZE RYTIT MAAY
33,300,000 *2JH 2 70% 46,620
< 13,320
e 33,300
OEONE datd gadls AlY
30,000,000 *1JH 2 x80% 24,000
< 9,000
e 15,000
MASHS AP 986,540 415,804 570,736
X 200,000
s 786,540
AMEIRE AlE@EZ 2223 586,540 353,404 233,136
101 @144 Hl 172,000 73,104 98,896
04 JIZHHZ2Z2XRHEE S 172,000 73,104 98,896
OAMEZE ZZ2e 2 18,000,000 x4 72,000
OQZZAS(ZSR) ML ol 100,000
201 Let249] 57,700 23,960 33,740
01 At 22l 37,700 9,810 27,890
OAMEZE 29 sJI7 7¢ 10,0002 305 +63] 1,800
OAEgR 228 Hg=s 2@ 200,000& «10€ 2,000
OANEZ HEE M= 100,000& 63 600
OAlEE HOtal & WS W=
10,000& *60H 23 1,200
OAMEZ 2228 =&l 7,000& »4H +75& 2,100
OYENXZ=N =3&A & EA 30,000
02 2324l 20,000 14,150 5,850
QA S (xS R) ML HzH
1,250,000& 42| 5,000
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A sgI=HH
M HMHNYS Iz
S9l: NASEHS o CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OAMEINY HE SFH| (AR 4A!)
1,000,000 x50 & 5,000
OdleA 29 2 sXISA R4
1,000,000 x40 & 4,000
OsJIHeY & D= HAX2 83|
500,000& x50 & 2,500
OAEEH &L A& KXY 500,000 x73| 3,500
202 044l 2,000 1,000 1,000
01 2L Hl 2,000 1,000 1,000
OAEMNY HRFA 2,000
206 T 24 239,000 53,000 186,000
01 =4l 239,000 53,000 186,000
OANMEZE 29 ME7Y 2,500,000 *103] 25,000
OEE DFII8 ZT&EM HZE
2,000 3, 0000H 6,000
Oals d3a Al 2 a2y 8,000
OFdBAS(ZSRE) M 27 200,000
301 YPrB A 840 840 0
09 SHAIAHI EAZ 840 840 0
OAMEE HOtg & nx #AIA Y
7,000 x60H x23| 840
401 Al HI L =2 Tl 115,000 200, 000 85,000
01 A& H| 115,000 200,000 A 85,000
OdIJIeEal2A B A 2,000,000& x15= 30,000
ASAEE A2 HES 76,000,000& = 14! 76,000
O WA 9,000
SEXCIIEEY 400,000 0 400,000
N 200,000
= 200,000
401 AlEHIZL £ 0HY| 200,000 0 200,000
Xl 100,000
= 100,000
01 Al&H| 200,000 0 200,000
OXNEsHASAEE ARI|BIAEE L
200,000,000 « 1Al 200,000
N 100,000
= 100,000
405 XHAHF S HI 200,000 0 200,000
Xl 100,000
= 100,000
01 AL 2 Z F S| 200,000 0 200,000
OdFA DMSHISEH 2
40,000,000 5= 200,000
N 100,000
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S| S e
SN Ost DY
MASEHS o (S5 &)
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@i HRE2
| | o 100,000
S AH MYlA 23 1,414,360 1,726,509 A 312,149
2 4,000
= 1,410,360
SsIHRE K& 24,600 24,500 100
201 et d| 11,600 14,500 A 2,900
01 AP 22| H| 11,600 14,500 A 2,900
OsJIH HHls el 150,000& x24H 3,600
OasgsxsIH Qe WEH|
400,000 *40™ x50% 8,000
206 M = H| 13,000 10,000 3,000
01 X2 Hl 13,000 10,000 3,000
OsJIH HY g 1ol 8,000
OsJIH =38 %2l 10,0002 x500= 5,000
SO HCHE W= ALY 8,000 62,000 A 54,000
2 4,000
= 4,000
201 gBt2Ay| 7,200 12,600 N5,400
2 3,600
= 3,600
03 A2 G HI 7,200 12,600 N5,400
OsJIH etEolE s 36,000& *200H 7,200
= 3,600
= 3,600
202 044l 800 1,400 A 600
=2 400
= 400
01 2L Hl 800 1,400 A 600
OsJHDE £A 800
= 400
= 400
s HY ALY 1,381,760 788,760 593,000
101 e1214| 81,000 108,000 A 27,000
04 JIZtHIZ2ZXNHEE 81,000 108,000 A 27,000
OsJIH 3y & org el
18,000,000& »3H 54,000
OsSx= Yo 150,000& »3¥ x60L 27,000
201 LBt ]| 137,260 146, 160 A 8,900
01 AP 22| H| 14,360 21,700 NT,340
OsJIAH LA 1,400,000 4H 5,600
OUHAISE A AR 2l
500,000 =121 & 6,000
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2N
X ZH -
L= B

el

sJl=dd
o o

SIIH MHIA 25

sgdE s Jl=HE

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OUUAIEA T2 S22
230,000 x1200 & 2,760
02 2224 4| 122,900 124,460 A 1,560
OUUAE AN AR A HEASH| 5,000
OUHANEE 22| & & 22X Hd=2722 6,000
O2H=sJ1H 282 80,000< *755CH 60,400
OLUAE A HIU SFXNES 500,000 *3CH 1,500
OLU=sI2AH X2 50,000
202 04| 2,000 0 2,000
01 2L Hl 2,000 0 2,000
OsJIH2e 224 2,000,000 2,000
206 M = Hl 30,000 30,000 0
01 X2 4| 30,000 30,000 0
OUUH=sIIH EH=2 Mg #+¢ 30,000
405 XHAHFE S HI 1,131,500 4,600 1,126,900
01 AL 2 Z F S| 1,131,500 4,600 1,126,900
OUHAISE A MHED| 2 500,000 »3CH 1,500
OUHANE A SEY A 2L 2,500,000 =2CH 5,000
OLUANGgA: SXEY 2 500,000 =4 CH 2,000
OBedEgE &) 2¢ 110,000, 000& *x2CH 220,000
O=sx4 &) 2 900,000,000 « 1Al 900,000
OZRYHASA Yo 2
3,000,000 =1CH 3,000
HESHAH (sHII=4H) 97,520 94,628 2,892
JlE&dl 97,520 94,628 2,892
soI|sHE D23 97,520 94,628 2,892
201 gBt2A | 33,600 34,020 AN420
01 AP 2t 2| H| 33,600 34,020 AN420
O M0 A (80,000 x359 x 12 ) x80% 26,880
OS2 H SHM A (80,000 x35% 12 ) x20% 6,720
202 044l 54,720 51,408 3,312
01 2L I 30,240 29,808 432
O % o4 0 &
(100,000 »12& »2124 48,400, 0002 ) *90% 30,240
02 NI 24,480 21,600 2,880
OsgdolAetAs AHNHH 170,000 «12H «12& 24,480
203 € R F & 9,200 9,200 0
01 JI22HYRFAH| 3,300 3,300 0
OJ|jaedgexza 3,300
02 EIIAH 2 F=EH| 1,400 1,400 0
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2N
X ZH -
L= B

el

sgJlsdH

HH2IZH (sYIIsdH)

Jl=23tl

% 8 - (A
SA BB O () - MM - HES e
OFAINHSFA 40,000& x35H 1,400
04 NI FAH 4,500 4,500
ORAN2EIRFA 375,000 128 4,500

- 474 -




